Retail Gravitation Model Formulas
a. Huff’s Gravity Model

i. The probability of a customer going to a specific store location is as follows:

Sj /Tij λ
P ij = ---------------  

            Σ Sj /Tij λ
P ij = probability that customer i shops at location j,

Sj = size of the store at location j, and 

Tij = travel time for customer i to get to location j.

 
When λ is greater than 1, travel time has a greater effect, and when λ is less than 1, store size has a greater effect.  
b. Reilly’s Law of Retail Gravitation:

Ta/Tb = (Pa/Pb)(Db/Da)2
Where Ta and Tb represent ratios of trade from the intermediate location attracted by centers A and B; Pa and Pb are populations of centers A and B; and Da and Db represent distances of centers A and B from the intermediate location.

Scenario

You have two purchases that you need to make in the next week or so.  The first purchase you need to make is some new socks—you just discovered the last “good” pair you have, has a hole.  Where would you go to buy these?  The second purchase, you need to have a new suit for upcoming job interviews at the Career Job Fair next month.  You know you can’t find anything here in XYZ town, so you can go to ABC, with two shopping malls and several strip shopping centers, or you can travel about the same distance in the other direction to DEF, again with a shopping mall and several other shopping centers which will carry suits.  What factors would you consider for each purchase?  List those factors.  Now, input the necessary information for each of the two retail gravitation models, and determine which city would be the chosen shopping location.  Write a brief description of the factors and how they influenced the results you have.

